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MAT 117, Spring 2011 — D. Ivansic¢ Show all your work!

1. (8pts) A curious observer counts the number and type of vehicles passing through a
street on several Wednesday afternoons. She obtains the following results:

|
Vehicle | car | SUV | pick-up | heavy truck | =L
Number | 67 | 53 59 33 212

If a random vehicle is obzerved on a Wednesday afternoon, what is the empirical probability
that it is

a) an SUV? 4\ 5 = NS
b} a heavy truck? 212
c) not a car? s : .
} £ 33 -0,1556L0
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2. (17pts) Write the probabilities and odds against and in favor of the following events
(you can show any work needed below):

Event probability | odds against | odds in favor
a) Rolling a 3 on a die ',:'sl 5o JESs
b) Drawing a 7 or a 9 from a deck of cards %r % T2 Zanl
¢) Drawing a red face card {rom a deck of cards 1% = 'f? 235 R e
d) Getting two heads on two coin tosses % el bt 3
. . 3 2 -
e) Getting sum 3 or 10 on a roll of two dice Y3 2]: S ST
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3. (4pts) The odds against rain tomorraw are T-to-2. ' / 0
a) What is the probability that it rains tomorrow?! 1) Plie itar) = T:f

b) What is the probability that it does not rain tomorrow?

4. (4pts) The probability of sceing a rainbow on May lst is 2 a) 972
a) What are the odds against seeing a rainbow? ) -
b) What are the odds in favor of seeing a rainbow? ) il / /

5. (13pts) A bean bag is tossed onto the triangular field shown.

What is the probability that the bean bag lands on: «
a) a field labeled X7 \
b) on a field labeled Y7 av

¢} a field labeled X or 27 /N };h

d) What are the odds against landing on X or Y7

. {0 el A e
_| _:_ = -l'— = Ij JEE_ .J" - 4
a) ?( Fﬂ' = F =P & t 330 5 e L5 e [/k
= [y il e e | 1.1 = -1‘--1--'“*—"‘:-—._—__'_::‘_‘ 6,_1-',;]_':-: = ? qr-IJ

§ P(NeadrdiEq=E I e & = B e T
'r.']} e ) | [L. 5} _L_,'._:‘..-IL-L.l.L;_ _g_":i—'i_i"_d. F-!_——_-LI-:."/ £9ne
C\'. I {}{f{.r _\__\:l — E]__?-I—_L E L Er 14.__1__4 E ? @ |{ J-..a; [ |£ L:':I,- .-d?ﬂfj

6. (ldpts) Ata char’ffty event, r,he?, following game of chance involving a single die is played:
a player pays $5 and collects 315 if they roll a 6. 57 if they roll a 2 or a 4, and nothing if
they roll a 1, 3 or a 3.

a) Find the expected value of this game.

b) What is the fair price of this game?

¢) The event organizers expect that 150 plays will be made. How much do they expect to
collect from this game? How much should they charge per play in order to expect collecting
$100 from this game?
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